



Pricing Proposal
Quotation #: 25173069
Reference #: EA 87707248
Created On: 8/8/2024
Valid Until: 9/30/2024

NC-County of Guilford

Microsoft Inside Account Manager

James Kurfees

PO BOX 3427
Attn: Finance Department
Greensboro, NC 27402
United States
Phone: 3366413314
Fax:
Email: jkurfees@guilfordcountync.gov

Ashley Campbell

-
Phone: -
Fax:
Email: Ashley_Campbell2@shi.com

All Prices are in US Dollar (USD)

Product	Qty	Your Price	Total
1 AzureprepaymentG ShrdSvr ALNG SubsVL MVL Commit Provision - Year 1 of 3 Microsoft - Part#: J5U-00004 Contract Name: Microsoft Software - Enterprise Agreement Contract #: 208C Coverage Term: 10/1/2024 – 9/30/2025 Note: EA 87707248 - Budgetary Payment Schedule Below;	1	\$0.00	\$0.00
2 CCAL Bridge O365 FSA Sub Platform Per User - Year 1 of 3 Microsoft - Part#: AAA-12417 Contract Name: Microsoft Software - Enterprise Agreement Contract #: 208C Coverage Term: 10/1/2024 – 9/30/2025 Note: EA 87707248 - Budgetary Payment Schedule Below;	2200	\$15.72	\$34,584.00
3 CCAL Bridge O365 Sub Platform Per User - Year 1 of 3 Microsoft - Part#: AAA-12415 Contract Name: Microsoft Software - Enterprise Agreement Contract #: 208C Coverage Term: 10/1/2024 – 9/30/2025 Note: EA 87707248 - Budgetary Payment Schedule Below;	1235	\$18.87	\$23,304.45
4 CIS Suite Datacenter Core ALng SA 2L - Year 1 of 3 Microsoft - Part#: 9GS-00135 Contract Name: Microsoft Software - Enterprise Agreement Contract #: 208C Coverage Term: 10/1/2024 – 9/30/2025 Note: EA 87707248 - Budgetary Payment Schedule Below;	40	\$163.80	\$6,552.00
5 CIS Suite Standard Core ALng SA 2L - Year 1 of 3 Microsoft - Part#: 9GA-00313 Contract Name: Microsoft Software - Enterprise Agreement Contract #: 208C Coverage Term: 10/1/2024 – 9/30/2025 Note: EA 87707248 - Budgetary Payment Schedule Below;	8	\$35.22	\$281.76
6 Exchange Server Ent ALng SA - Year 1 of 3	1	\$716.62	\$716.62

Microsoft - Part#: 395-02504
Contract Name: Microsoft Software - Enterprise Agreement
Contract #: 208C
Coverage Term: 10/1/2024 – 9/30/2025
Note: EA 87707248 - Budgetary Payment Schedule Below;

7	O365 G3 GCC Sub Per User - Year 1 of 3 Microsoft - Part#: AAA-11894 Contract Name: Microsoft Software - Enterprise Agreement Contract #: 208C Coverage Term: 10/1/2024 – 9/30/2025 Note: EA 87707248 - Budgetary Payment Schedule Below;	3435	\$248.65	\$854,112.75
8	Power Automate GCC Sub Per User - Year 1 of 3 Microsoft - Part#: SFR-00001 Contract Name: Microsoft Software - Enterprise Agreement Contract #: 208C Coverage Term: 10/1/2024 – 9/30/2025 Note: EA 87707248 - Budgetary Payment Schedule Below;	7	\$162.16	\$1,135.12
9	Power BI Premium USL GCC Sub Per User - Year 1 of 3 Microsoft - Part#: 6U1-00004 Contract Name: Microsoft Software - Enterprise Agreement Contract #: 208C Coverage Term: 10/1/2024 – 9/30/2025 Note: EA 87707248 - Budgetary Payment Schedule Below;	2	\$183.78	\$367.56
10	Power BI Pro GCC Sub Per User - Year 1 of 3 Microsoft - Part#: DDJ-00001 Contract Name: Microsoft Software - Enterprise Agreement Contract #: 208C Coverage Term: 10/1/2024 – 9/30/2025 Note: EA 87707248 - Budgetary Payment Schedule Below;	10	\$92.38	\$923.80
11	Project Professional ALng SA 1 Server CAL - Year 1 of 3 Microsoft - Part#: H30-00238 Contract Name: Microsoft Software - Enterprise Agreement Contract #: 208C Coverage Term: 10/1/2024 – 9/30/2025 Note: EA 87707248 - Budgetary Payment Schedule Below;	15	\$207.21	\$3,108.15
12	Project Standard ALng SA - Year 1 of 3 Microsoft - Part#: 076-01912 Contract Name: Microsoft Software - Enterprise Agreement Contract #: 208C Coverage Term: 10/1/2024 – 9/30/2025 Note: EA 87707248 - Budgetary Payment Schedule Below;	13	\$126.13	\$1,639.69
13	SharePoint Server ALng SA - Year 1 of 3 Microsoft - Part#: H04-00268 Contract Name: Microsoft Software - Enterprise Agreement Contract #: 208C Coverage Term: 10/1/2024 – 9/30/2025 Note: EA 87707248 - Budgetary Payment Schedule Below;	1	\$1,202.29	\$1,202.29
14	SQL Server Enterprise Core ALng SA 2L - Year 1 of 3 Microsoft - Part#: 7JQ-00343 Contract Name: Microsoft Software - Enterprise Agreement Contract #: 208C Coverage Term: 10/1/2024 – 9/30/2025 Note: EA 87707248 - Budgetary Payment Schedule Below;	39	\$2,430.79	\$94,800.81

15	Teams AC with Dial Out US/CA GCC Sub Add-on - Year 1 of 3 Microsoft - Part#: NYH-00001 Contract Name: Microsoft Software - Enterprise Agreement Contract #: 208C Coverage Term: 10/1/2024 – 9/30/2025 Note: EA 87707248 - Budgetary Payment Schedule Below;	3435	\$0.00	\$0.00
16	Teams Phone Standard GCC Sub Per User - Year 1 of 3 Microsoft - Part#: LK9-00003 Contract Name: Microsoft Software - Enterprise Agreement Contract #: 208C Coverage Term: 10/1/2024 – 9/30/2025 Note: EA 87707248 - Budgetary Payment Schedule Below;	1	\$73.51	\$73.51
17	Visio Professional ALng SA - Year 1 of 3 Microsoft - Part#: D87-01159 Contract Name: Microsoft Software - Enterprise Agreement Contract #: 208C Coverage Term: 10/1/2024 – 9/30/2025 Note: EA 87707248 - Budgetary Payment Schedule Below;	50	\$108.11	\$5,405.50
18	Win E3 ALng Sub Platform Per User - Year 1 of 3 Microsoft - Part#: AAA-10798 Contract Name: Microsoft Software - Enterprise Agreement Contract #: 208C Coverage Term: 10/1/2024 – 9/30/2025 Note: EA 87707248 - Budgetary Payment Schedule Below;	3435	\$57.99	\$199,195.65
19	Win Server DC Core ALng SA 2L - Year 1 of 3 Microsoft - Part#: 9EA-00278 Contract Name: Microsoft Software - Enterprise Agreement Contract #: 208C Coverage Term: 10/1/2024 – 9/30/2025 Note: EA 87707248 - Budgetary Payment Schedule Below;	208	\$124.49	\$25,893.92
20	Win Server Standard Core ALng SA 2L - Year 1 of 3 Microsoft - Part#: 9EM-00270 Contract Name: Microsoft Software - Enterprise Agreement Contract #: 208C Coverage Term: 10/1/2024 – 9/30/2025 Note: EA 87707248 - Budgetary Payment Schedule Below;	8	\$19.66	\$157.28
21	Yammer Enterprise GCC Sub Add-on To O365 M365 F3 E5 - Year 1 of 3 Microsoft - Part#: LML-00001 Contract Name: Microsoft Software - Enterprise Agreement Contract #: 208C Coverage Term: 10/1/2024 – 9/30/2025 Note: EA 87707248 - Budgetary Payment Schedule Below;	3151	\$0.00	\$0.00
22	Power BI Premium P1 GCC Sub - Year 1 of 3 Microsoft - Part#: HKL-00002 Contract Name: Microsoft Software - Enterprise Agreement Contract #: 208C Coverage Term: 10/1/2024 – 9/30/2025 Note: EA 87707248 - Budgetary Payment Schedule Below;	1	\$45,900.69	\$45,900.69

*Tax \$87,706.50

Total \$1,387,062.05

*Tax is estimated. Invoice will include the full and final tax due.

Additional Comments

Payment Schedule:

Year 1: \$1,387,062.05

Year 2: \$1,387,062.05

Year 3: \$1,387,062.05

Total: \$4,161,186.15

Hardware items on this quote may be updated to reflect changes due to industry wide constraints and fluctuations.

Thank you for choosing SHI International Corp! The pricing offered on this quote proposal is valid through the expiration date listed above. To ensure the best level of service, please provide End User Name, Phone Number, Email Address and applicable Contract Number when submitting a Purchase Order. For any additional information including Hardware, Software and Services Contracts, please contact an SHI Inside Sales Representative at (888) 744-4084. SHI International Corp. is 100% Minority Owned, Woman Owned Business. TAX ID# 22-3009648; DUNS# 61-1429481; CCR# 61-243957G; CAGE 1HTF0

The products offered under this proposal are resold in accordance with the terms and conditions of the Contract referenced under that applicable line item.